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Kazda liczba, ktora konczy sie na n,
jest podzielna przez n.

Karol Omytek



20, 50, 100




1, 2,5, 10, 20, 50, 100, 200, 500, 1000, c-10/, gdziec € {1, 2, 5}, ieN

25, 250, 2500, c-10/, gdziec € {1, 2, 5, 5%}

c-10/, gdziec € {1, 2, 5, 5%, 53}
125, 1250, 12500,

4,8, 40, 80 c\\Q..gdz N, INS

625, .. !AZ/g\ c- Nolrgtl7] N5 A Y



Tylko liczby, ktore konczg sie na
c-10, gdziec € {1, 2, 5, 52, 53},
sg podzielne przez c-10'.

Karol Omytek



I C\j‘f e

AL




I C\j‘f e

AL AR













X: I'L[L-uj{'rvowﬂ obuedvu ke AOK}






X: I'L[L-uj{'rvowﬂ obuedvu ke AOK}

el 107 g ¢ 4|






X I'Lk csfrome onedakn 40 }

= fLrvLeIT\J /10 m/ ./l%— A M;f.gl"



L) o=b = ask-/



Q, olowolwe









|

> QA

5 a.=k-/

I



|

5 a.=k-/

I

> QA

K-4 b
10 <LHg5 0
10 L5510 / 10"

0--b-|
0 <8¢50 /
< -



|

5 a.=k-/

|l
1
~

> QA

K- v b
10 <15 <5~4O”



|

> QA

5 a.=k-/

I



L) o=b = ask-/

Lq oyb = a=k



|

> QA

5 a.=k-/

I

)
K Y b Y-
10 <LHg5 0
-4 a-
10 L5510 | 40"
0--lo-{ a-b ~
0 e gt
57Vl £ 5%
ol Ll A a-k> | G-k



i) alb = bk



i) alb = bk



i) alb = bk



i) alb = bk

RS
{510
b-1
<5-10 /.-/|
ba-1
v e



m) 0 b = b=k



i) alb = bk












fl: Ek-u\j\cwowﬂ et Bt AOK}
-1 <
= (LNLGIT\J: /10 <m,< —/1%
L\ a=b =) oloroime

iyayb = o-p=|
i) ol = A (h-ag



Tylko liczby, ktore konczg sie na
c-10, gdziec € {1, 2, 5, 52, 53},
sg podzielneprzez c-10'.

Karol Omytek

o= b



Tylko liczby, ktore konczg sie na
c-10, gdziec € {1, 2, 5, 52, 53},
sg podzielneprzez c-10'.

Karol Omytek

o= b
a-b=4



Tylko liczby, ktore konczg sie na
c-10, gdziec € {1, 2, 5, 52, 53},
sg podzielhe/przez c-10.

Karol Omytek

o= b
a-b=4

| { bma. <D



ConatoAl?



Ty

Dla jakich n zachodzi irnplikac)a: "jesli liczkba K




Ty

Dla jakich n zachadzi immplikacja: "jesli liczlba Korficzy sig na n, to jest podzielna przez n'?

ChatGPT

lrnplikac)a "[esli liczlba korficzy sig na n, to [est podzielna przez n" zachodzl dia wszystkich liczik nwigkszych od 1.




. Forwhich natural numbers n does the following implication hold: "if a number ends in n, then nis its c



. Forwhich natural numbers n does the following implication hold: "if a number ends in n, then nis its c

@ The implication "if a number ends inn, then nis | ivisor holds true for all natural numbers n from 0 to 9,




. Forwhich natural numbers n does the following implication hold: "if a number ends in n, then nis its c

@ The implication "if a number ends inn, then nis | ivisor holds true for all natural numbers n from 0 to 9,

. Forwhich natural numbers n does the following implication hold: "if a number ends in n, itis divisible by



. Forwhich natural numbers n does the following implication hold: "if a number ends in n, then nis its c

@ The implication "if a number ends inn, then nis | ivisor holds true for all natural numbers n from 0 to 9,

. Forwhich natural numbers n does the following implication hold: "if a number ends in n, itis divisible by

@ The implication "if a number ends inn, itis divisible "holds true for all natural numlbers n from 1 to 9,
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The natural wvalues of n that satisfy the implication "if a number ends in n, itis divisible by n" are 0,1, 2, 5, and 10.

For n = 0, any number that ends in 0 is divisible by 0 because any number multiplied by 0 is 0.

For n = 1, any number ending in 1 is divisible by 1 because any number divided by 1 is itself.

For n = 2, any even number ending in 2 is divisible by 2 because even numbers are divisible by 2.

For n . any number ending in 5 or 0 is divisible by 5 because any number that ends in 5 or 0 is divisible by 10, and if itis divisible by 10, itis also divisible by 5.
For n = 10, any number ending in O is divisible by 10 because any number that ends in O is divisible by 10.

These are the natural values of n that satisfy the given implication.
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